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PART A: Grammar and Vocabulary
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will see four words

or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase that best completes the
sentence. Then mark your answer sheet.

76-

77-

78-

79-

80-

81-

82-

84-

85-

87-

The first scientific journals ............ in the late 17" century, and these print publications ............ very
little over time.

1) published / have been changed 2) were published / are changing

3) were published / have changed 4) published / were changed

Today, English is the third ............ worldwide after Chinese and Hindi, with some 380 million speakers.

1) most spoken native language 2) more spoken language native

3) language most spoken native 4) native language most spoken

Microbes ............ living deep inside crust at the bottom of the sea. The crust is several kilometers thick
and ............ 60 percent of the Earth’s surface.

1) are being found / is covered 2) have been found / covers

3) are found / is covered 4) have found / covers

Be sure to check in at least twenty minutes prior to departure time, ............ ?

1) are you 2) will you J)isit 4) have you

His lawyer ............ him in court, saying he was at home asleep at the time the bank was being robbed.

1) involved 2) collected 3) repeated 4) defended

In 1773, an earthquake destroyed Antigua, the capital of Guatemala, so a new capital, Guatemala City,
WS eeereesennns three years later.

1) protected 2) founded 3) produced 4) invented

To stay ............ , humans must keep water balance, which means that water losses must be made up for
by water intake.

1) natural 2) physical 3) healthy 4) dedicated

By refusing to talk to your wife about your smoking problem, you are only ............ a bigger problem.

1) carrying 2) holding 3) increasing 4) creating

The second part of the rocket carries the fuel which provides the energy needed to get the rocket out of
the Earth’s ............ .

1) orbit 2) space 3) pressure 4) power
We heard people in the water ............ for help when we approached the sinking ship.
1) regarding 2) attracting 3) preparing 4) shouting

Martin felt really nervous at the beginning of the test, but once he realized that the questions weren’t
too difficult, he was able to ............ .

1) make up 2) hurry up 3) calm down 4) give up

| R sat on my cell phone and broke it because I had forgotten it was in the back pocket of my
jeans.

1) specifically 2) accidentally 3) powerfully 4) absolutely
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PART B: Cloze Test

Directions: Questions 88-92 are related to the following passage. Read the passage and decide which
choice, (1), (2), (3), or (4), best fits each space. Then mark your answer sheet.

Earth is one of eight major planets moving around the Sun. In our solar system, all the planets travel in
the same ...88... around the Sun, each revolving in an elliptical orbit. Through a telescope, the planets
...89... as disks of light moving slowly across the night sky. They do not, however, produce light themselves,
but ...90... . All the planets except Mercury are surrounded by a layer of gas called an atmosphere. The
four smaller planets, such as Earth, have a rocky surface, but the four giant planets are mostly gas and
...91... . There is a huge difference in temperature between the planets nearest to the Sun and those ...92...
away. Mercury is hotter than an oven by day, while Neptune is about 392°F (200°C) below freezing.

88- 1) measure 2) respect 3) direction 4) situation
89- 1) collect 2) increase 3) appear 4) spare
90- 1) reflecting light from Sun 2) reflect light from the Sun

3) are reflecting the Sun’s light 4) they reflect the Sun light
91- 1) liquid 2) material 3) object 4) substance
92- 1) as far 2) farthest 3) farther than 4) as far as

PART C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed by four

questions. Answer the questions by choosing the best choice, (1), (2), (3), or (4). Then mark your
answer sheet.

Passage 1:

I’m usually fairly doubtful about any research that concludes that people are either happier or
unhappier or more or less certain of themselves than they were 50 years ago. While any of these statements
might be true, they are practically impossible to prove scientifically. Still, I was shocked by a report which
concluded that today’s children are significantly more anxious than children in the 1950s. In fact, the
analysis showed, normal children aged 9 to 17 show a higher level of anxiety today than children who were
treated for mental illness 50 years ago.

Why are today’s kids so stressed? The report provides two main causes: increasing physical separation
— brought on by high divorce rates and less involvement in community, among other things — and a growing
opinion that the world is a more dangerous place. However, given that “we can’t turn the clock back”,
adults can still do plenty to help the next generation.

At the top of the list is nurturing a better appreciation of the limits of individualism. No child is an
island. Strengthening social ties helps build communities and protect individuals against stress. To help
kids build stronger connections with others, you can turn off TVs and computers. Your family will thank
you later. They will have more time for face-to-face relationships, and they will get more sleep.

Limit the amount of virtual violence your children are exposed to. It’s not just video games and movies;
children see a lot of murder and crime on the local news. Keep your expectations for your children
reasonable. Many highly successful people never attend Harvard or Yale. Make exercise part of your daily
schedule. It will help you deal with your own anxieties and provide a good model for your kids. Sometimes
anxiety is unavoidable. But it doesn’t have to ruin your life.

93- The author thinks that the conclusions of any research about people’s state of mind are ............ .
1) surprising 2) unbelievable 3) false 4) questionable
94- What does the author mean when he/she says, “we can’t turn the clock back” in the second paragraph?
1) It’s impossible to slow down the pace of change.
2) The social reality children are facing cannot be changed.
3) Lessons learned from the past should not be forgotten.
4) It’s impossible to forget the past.
95- The first and most important thing parents should do to help their children is to ............ .
1) provide them with a safer environment 2) lower their expectations from them
3) get them more involved socially 4) set a good model for them to follow
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96- What conclusion can be drawn from the passage?
1) Anxiety, though unavoidable, can be dealt with.

2) Children’s anxiety has been very much exaggerated.

3) Children’s anxiety can be removed with more parents’ care.

4) Anxiety, if properly controlled, may help children become mature.

Passage 2:

Gene therapy is a revolutionary new technique for treating people with health problems. Up until very
recently, the most commonly available methods for treating patients were either through drugs or surgical
procedures. Gene therapy provides a third option for treatment by altering or replacing cells with new
genetic materials and instructions. Because these changes are at the molecular level, scientists can be very
precise in the kinds of alterations they make in patients.

Gene therapy works by using a delivery system, such as a virus, to enter a patient’s body. Once inside
the body, the virus binds to a host cell and delivers the new DNA. The proteins then begin to repair the
affected cells. New techniques have focused on removing cells from the patients and altering them outside
the body before re-introducing them to the patient.

The two types of gene therapy are called somatic and germline. Somatic therapy refers to changing or
replacing a somatic cell. In this case, the treatment is restricted to the patient only. This will not affect the
patient’s future children because the patient’s germ cells are unaffected. In germline therapy, the patient’s
germ cells are treated. Because these changes are in heritable genes, this may affect the patient’s future
offspring. This is highly controversial because it is not clear exactly how this might affect them and further
generations. For this reason, many countries have enacted laws that either prohibit or outright ban this
kind of treatment.

97- According to the passage, what is gene therapy?
1) a scientific theory that has yet to be put into practice
2) a contemporary method for treating people with health problems
3) a revolutionary new technique for treating people with deadly diseases
4) a revolutionary new technique for treating people with heart defects

98- The word “them” in paragraph 2 refers to ............ .

1) cells 2) patients 3) proteins 4) techniques
99- Paragraph 2 is mainly about ............ .

1) how gene therapy works 2) two types of gene therapy

3) why people need gene therapy 4) how gene therapy creates new DNA
100- According to the passage, germline therapy is controversial because ............ .

1) this form of treatment is considered far too expensive

2) scientists are not sure how this therapy might affect a patient’s children
3) a patient’s future children and their germ cells are unaffected

4) many countries have laws that prohibit medical treatment
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